(R7ZUVIAD) BE EE

@ & | | D w L | W d E F | mmeg |1HBA|1FEA

T 2TANBE| 25 | 40 | 32 | 86 | 19 [1/27| 9.6 | 57 | 50 |40 | 4
3TANBE| 35 | 50 | 39 |100| 23 |5/8”|125| 67 | 75 |40 | 2
2
2

BE NXT7UCTAN) w
w1
TE:r7Ox—FXy X :
f B BEANTY LY -
o R
7 A
] y J\F
L
: 0k
- U
— T
"h_'-'"} (2fE%4")

4TANBE| 45 | 65 | 44 |125]| 26 |5/8”|12.5] 83 | 180 | 40
5TANBE| 55 | 80 |53.5/166|33.5|3/4”| 15 [110]| 250 | 20

2TNB-L | 25 | 40 | 32 |145]| 19 [1/27| 9.6 |117| 50 - | -

@ 3INB-L | . [50 (3016123 |5/8]125]128] _ | _ | _
0> 4L ME# [3TNB-LL| ©~ [ 50 | 39 [176] 23 |5/87[125] 135

4TNB-L | 45 [ 65 | 44 [175] 26 [5/87[125[135] 180 | — [ —
5TNB-L | 55 | 80 [53.5/236(33.5[3/4”] 15 [180] 250 | — | —
@lvnza%‘)w |3TNB-12] 382 | 50 | 39 [100] 23 [Mi2] 12|67 | 75 [40] 2 ]
%3TNB-12 (M12FKIV ) 13Fy bOYA XOBELE. T7OVHERTE
FtA. M12FHND3S 7L —b (BPL12M) ZZERAL 720,

#HE NXTUZTAY)

il o S e N RS
B IREANTUZYT

(D)
7

o))
)

2 E M | A | B[ D|E|F | W/|[W|L|d|gge B HE
2FUKBE| 2= | 88 | 48 | 40 |96 | 50 | 32 | 19 | 81 [1/2”| 70 |20 | 2
3FUKBE| 3= |109| 58 | 50 (125| 58 | 39 | 23 | 89 |5/8”| 150 | 20 | 2
4FUKBE| 45 |138| 73 | 65 |125| 82 | 44 | 26 |121|5/8”| 300 | 20 | 2
5FUKBE| 5= |168| 88 | 80 | 15 |110|53.5(33.5/165|3/4”| 500 | 10 | 2
6FUKBE| 6= |210|110|100| 15 |110| 63 | 41 [ 160|3/4”| 700
7FUKBE| 7= |260|135|125(19.0/130| 80 | 48 [195| 1”7 | 1,000
8FUKBE| 85 |[310|160|150|19.0{140| 91 | 53 |225| 17 | 1,500
2FKB-L | 28 | F=110 L=141(Zz0ftt~HE=FLt) 70 = | =
3FKB-4B F=82 L=118(Zz0Oftt~tiA=RL) ¥ 4SHKI b %2EH = 4
3FKB-L 35 F=106 L=139(% Ofth~tiE=RFL) 150 = =
0> JHRIL ME#k |3FKB-LL F=128 L=174(% Oft~tiE=FE) - | =
4FKB-L 4= F=128 L=172(ZOfth~tiE=RL) 300 | — =
5FKB-L 55 F=180 L=235(% Ofth~tZE=FL) 500 | — =
6FKB-L 65 F=180 L=231 (% Dftb~tiE=RL) 700 | — =

¥R - WECDVTR, FPELLEETDIENHDIIDTTTELLEEL, 13





